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ECONOMICS
( General )
( Introductory Macroeconomics )
Full Marks : 60

Time : 2% hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

Choose the correct answer : 1x7=7

% Ted A1 Tfensa :

1. Which of the following is not, by definition,
equal to national income?

O (FIVCOI, IR JCO, O SRE A 727 ?

(a) National expenditure

o 9

(b) National product
G TR

(c) National wealth
SR %

(d) None of the above
999 b1S 7=

/177 [ P.T.O.



4. Which of the following is not included in

2. The difference between gross domestic ;
disposable income?

product and net domestic product is
expressed by which of the following terms ? ‘ Goq (FIACO] AN AR W‘g?@ 23 ?
TP e TeorE AR e T T A1 e

T CITCS CRATC 2 91 2 2 (a) Business transfer payment

TP W& RO
(a) Depreciation cost

Y IR (b) Social security benefits
- (b) Indirect taxes Bl 1 & }Iﬁzﬂ
AT 9 (c) Corporate dividends
(c) Subsidies ' ! [ERECICISS R
2R
: (d) Personal income taxes
(d) Direct taxes affssis s
Ao 9 :
3. For calculating per capita income of a i
country, which of the following formula is S. What will be the average propensity to
used? consume when average propensity to save is
2D
Q9 OPR SR SR SR A O PG I i
RIEEREG R TG A 2RI X7 2'C T Tocstel giqerel 6 2°97
(@) Total family income + Number of family (a) One
members : G5
fRAER P A + AR TN IR
. . ' (b) Zero
(b) National income + Total population
SO W + o SR i
(c) Total government revenue =+ Total (¢) Two
population 1
TP HIFR SR + 5 TR
. (d) Three
(d) None of the above fof
9[99 418 7 '
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6. The multiplier developed by J. M. Keynes was
(8. @9 (PR TSI I GIFCH! 2T

(a) investment multiplier

e g

(b) employment multiplier

QS B

(c) consumption ‘multiplier
TSIl B

(d) None of the above
8999 GBS TR

7. According to classical economist Hawtrey,
inflation is an economic situation where

AR wLHIfSR% 2T To e g o' o

o7 AN
ST SRl R S1g

(a) supply of money exceeds supply of goods
4R @IS TEPINAR @5TTeE SiEF 23

(b) supply of money is less than supply of
goods

TR S TPINAR @6TeE F9 20

(c) Neither (a) nor (b)
(a) € 727 (b) S =¥

(d) Both (a) and (b)
(a) == (b) TN
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Answer the following questions : 2x4=8

TS fral erpryes Tew f

8. Distinguish between demand-pull inflation
and cost-push inflation.

wif2 e Jurifs S Seofre IRt qarifes
TS AL (Y& |

9. What is aggregate demand function? State its
components.

STHfRE SIfEwRee] 15 2 TR TomepTE a5 < |

10. Mention the motives behind the demand for
money.

A Sifwn fFafae w91 SompTe (Sfeem) S w9 |

11. Define net national income.
g7 B SR e |

Answer any three of the following : 5x3=15

T fira eppryee f cole fofibm T fim -

12. Explain the concept of gross national income,
personal income and disposable personal
income.

P TR TR, IO WY WE GIEER IS
WG—42 YRENCH20] J&irs, for4 |

13. Explain the relation between Say’s law of
markets and the classical theory of

employment.
@'Y [ [fE = FaEer sl ves Tew T
QIR F0 :
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14. Discuss the significance of the investment
multiplier in developing countries.

T (PTS RIS @pe SR SIcEs 397 |

21. Discuss the measures to raise the propensity
to consume. 10

TerceIe] 2Tl I S TATPTR SCETAl 394 |

D ti f th i S b :
10 Do e propenieh Mt Wiefebnsmiiptin 22. What is investment multiplier? Explain the

function. : ) :
relation between marginal propensity to
: ToTSIol T @ 3 W RUSILEURSIN consume and investment multiplier. 2+8=10
_ v B _ s gre 62 2t Socee el s R
16. Meptlon the limitations of the classical theory BT TS TR 1< 1 |
of interest.
o4 SR OGO ACTAE Teag 3 |
" : * %k
Answer any three of the following questions : ‘
: 10x3=30
weTs fugl APz [ i fofabe T fan
17. Is national income a good measure of
economic welfare? Give reasons. 10
me%ﬁswwaﬁﬂaﬂﬁmwmv
IR IR Teq foe |

18. Discuss the various methods for
measurement of national income. 10

T W el F91 RS etz weesan 341 |

19. Explain Keynes’ liquidity preference theory of
interest with diagram. 10

A o9 SRS Tgest o srerrs ek fors |

20. Explain the different measures to control

inflation. 10
TErife g Risa Somprz amm 31 |
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